DIRECTORATE OF GOVERNMENT EXAMINATIONS, CHENNAI-6
SSLC EXAMINATIONS, MARCH 2017

KEY ANSWER FOR MATHEMATICS
MARKING SCHEME — KEY ANSWERS

GENERAL INSTRUCTIONS

1. If a student has given any answer which is different from one given

in this marking scheme, but arrives correct answer should be
- given full credit with appropriate distribution.

2. In section | award 1 mark for the correct option code and the
corresponding answer. If one of them (option or answer) is wrong
then award ZERO mark only.

3. In section I, section IllI& section IV if the solution is correct then
award full mark directly. The stage mark is essential only if the part
of the solution is incorrect.

4. If a particular stage is wrong and if the student writes the
appropriate formula then suitable mark which is a;ttached with that
stage should be awarded for. the formula mark should not be
deducted for not writing the formula if the student arrives at the

correct answer.
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Directorate of Government Examinations, Chennai — 6

SSLC Public Examination — March 2017

Mathematics — Answer Key
Total Marks : 100

Section - |
- (Marks : 15)
Choose the correct Answer 15x1 =15
1. (b) |21
2,| (b) |3
3.| (a) |8
4. | (d) | 31

B0

6.| (@ |(F

7.| (@) |3
8.| (d) |8
9. (d) [6cm

10. | (b) {16 cm

11.| (c) |60°
12.| (d) | -9
13.| (¢) |5cm
14.| (c) |6v2
11
15.| (b) =
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TTET Section - I (Marks : 20)
v uestions .
Ii ; o ;
(ii S(L)’s]sa'}oenﬁ'\la 120 is compulsory. Select any 9 questions 10x2 =20
rs guestions.

16. ?AJLESUC) ={1,2,3,4,5,6,7,8) 17 2
- JUC ={1,2,3,4,5,6,7,8} 1| Marks
17.13=9 1] 2
| |b=15 1 | Marks

_m  7(m+2)2 ,
18,1 B2F — L o2
X=2 1 2
19. y=4 : 1 | Marks
3x(2x + 3)
3x(x — 4) | . 1|,
20. (zx + 3) Marks
(x—4) - 1
ai1=1,a12=0,821=3,82=2 . 1
- 2
21. /1 0
. A= (3 » : 1 Marks
3 2 g -1 1
c= 2(5 1) + (4 3 ) . 4
22. 14 3 ' , | 4 | Marks
L= (14 5) :
[ ] pftreims !;r’_z_’i“.}ﬁ) » 1] 2
23. P( tem | Lm Marks
S P(2.3 tis not true : . 1 2
statement s n . : :
24. -Frzr;z\son: All the points are lie on the Y- axis. 1 | Marks
AB _FB 1] 2
25_ QR ~ PR Marks
QR =9cm - ; 1 .
e
cD=30m 1 | Marks
26. | The Height of the Tower BD =31.5m
"
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L 1 2
2nr (h+r) = 1540 1M
ark
27. | h = 28 ¢m i
- 1 2
28. Ra"gi 1 '_}1‘5 1 | Marks
i) probability of getting two heads P(A) = T 2
29. i) probability of getting exactly one tail P (B) =f (01’)':‘ 1 el
30. 1 N
f1—7rr3 = 7241l
r=12cm 2
R Marks
X' -y’
(b) | = a%sec?@+ b2tan?@ + 2absecBtand — a’tan?@ — b?sec?0 — 2absecftant | 1
—2® _p? 1
Section — Il (Marks : 45)
(i) Answer 9 Questions .
(ii) Question No : 45 is compulsory. Select 8 questions from the first 14 9x5 =45
questions .
BUC={1,2,c,d,efgy} 1
A\(B U C) = {a, b, x, 2} 1
A\B ={a, b, f,g,xy,2} 1 '
31. AC={a b c.x 2} 1 5 Marks
(A\B)N(A\C) ={a b,x,2} 1
f(6) =1, (9) =2, f(15)=4,f(18)=5,f(21)=6 1
Arrow Diagram 1
32. | Set of ordered pairs 1 5 Marks
Table 1
Graph 1
1-4+9-16+ ... upto 2n terms 1
=(-3) + (;:,7) +(-11) + ... upto n terms 1
Sn:—[2a+(‘n—1)d 1 -
3. 2 5 Marks
=3 2+ m-D(-4] 1
=-n(2n+1) 1
s, =7(1+11+ 111+ ... uptonterms) 1
=93(9+99+999+... upto n terms ) 1
=2[(10-1)+ (100 - 1) + (1000~ 1) +... Upto n terms] 1
34. - _79_ [(10 + 10%+ 10%+......... upto n terms) —n ] 1- 5 Marks
_ 7 10010"-1) ‘ 0 ion_ o E A
=;[—H—-nl(or) 5 (10" -1) 3 1
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] . 30
1= 154+ x hr
3Q
T2= Jg ghr
B0 . 0
o3 5= " 15+x 2 5 Marks
| 2
| X =25
=25 1
| Speed of Stream =5 km/hr
4 -3 +7
4116 24 (a1) (b+1) 49
16
8 -3 24 (a-1)
24 9
8 -6 Z
36. i a-10 b+ 49 5 Marks
; 56 -42 49
0
a = 66 ‘ a = — 46 (Taking -7 instead of +7)
: b =-43 b= 41
( Note : alternative method can be used )
ag=(8 3
[ =)
. (8 11
o s )
BTz[_% —1] 5 Mark
37. : . arks
(5 7
& ‘[2 3] |
'8 11
: AT’(—a —4]
/f
— | Area of the quadrgate;al AECD
—4 -3 = :
=§{ 5 5 -z 3 __2} Sq.Units
=§{(+20+6+9—4)—(5"15"4—12}} ks

38.
1

= = (56
5 (56)

= 28 Sq.Units

hod can be used )

. alternative met
| (Note : alternatie 7=
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Statement 1 -
diagram o 1 5 Marks
39. | Given, To prove and Construction 2
proof t
Note : Without diagram give 1 marks only for statemen |
1
‘ 5 Marks
40.
1
1
- 10(v3+1) 1
2 1
=13.66 m :
R=7cm 1
r=4.2cm 1
41 Volume of Frustum = i mh (R? + r* + Rr) cubic units 1 5 Marks
' =1xZx 14 (77 +4.2°+ Tx4.2) 1
= 1408.58 cm® (or) 1408.6 cm’ 1
| Volume of cone = ifrrzh cubic units 1
Volume of cuboid = | x b x h cubic units 1
42. | Volume of cone = Volume of cuboid 2 5 Marks
Radius r =21cm }
Diameter =42 cm 1
X =18 1
| sd=0, yYd°=98 1
zd? ‘ 1
43.| o= |/ =4.428 (approx) 5 Marks
c.v.= —x100 1
b
= 24.6 (approx) 1
n(S) = 36 1
18 "
P(A) =5 1
4a.|P® 75 i 1 .
P(AnB)=§g 1 Marks
P(AUB) = = () - 1




0 f(x) = 3x(x*+2x*-4x-8)
g();) = 2x (2X3+7x2+4x-4)
(@ 3x° +12x +12 = 3( x*+4x+4)
) X3+2X2 4 i e
-4%-8 + x“+4x+4, Remainder = 0
G.C.D. = x ( x*+4x+4)
( Note : alternative method can be used )

45. | . (OR)
Intersecting point on X axis (a,0)

Intersecting point on Y axis (0,b)

a=6andb=4
g W A
(b) |=+%=1
2x +3y -12 =0
( Note : alternative method can be used )
Section - IV
(Marks : 20)
r_N_c_)Le__: Answer both the questions choosing either of the alternatives.
| Rough diagram

First Circle

Line Segment
Perpendicular bisector
Second Circle

Two tangents

Length of Tangents = 8 c.m
OR

10 Marks

46.

Rough Diagram

Line Segment AB
Triangle ABC

(b) Perpendicular bisector
Circumcircle

Cyclic Quadrilateral ABCD

Any five points
(@) | x- axis, y- axis, scale
Ploting the Points and drawing the parabola

solution set = (2,15}

10 Marks
A7.

x- axis, ¥~ axis, scale .
(b) | Plofing the Points and drawing the Rectangular

Hyperbola
sz) |f x=5theny = 4
i) fy= 10 then x =2

L——/’L/ ook kKK

7
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